

WIRE & CABLE CONNECTORS & ACCESSORIES HARNESS MANAGEMENT PRODUCTS

VALUE-ADDED SERVICES

CONFIDENTIAL

WireMasters, Inc. 1788 Northpointe Road Columbia, TN 38401 (800) 635-5342 615-791-0281 Fax: (615) 791-6182

3235678 08/19/2024 Date Quote

Customer 11973

Contact Muzdalifah Hanani Roslizan

Salesperson Eric Hill

Quoted For: GALAXY AEROSPACE (M) SDN BHD SULTAN ABDUL AZIZ SHAH AIRPORT SUBANG, SELANGOR, 47200

Malaysia

BIII To: GALAXY AEROSPACE (M) SDN BHD MALAYSIA INTL. AEROSPACE CENTRE SULTAN ABDUL AZIZ SHAH AIRPORT HELICOPTER CENTRE, SUITE 11-14 SUBANG, SELANGOR, 47200

Malaysia

Quote Good Through 09/18/2024

Ship Via Freight Terms DHL INTL EXP C SP

Payment Terms CASH IN ADVANCE

Customer Quote Number RFQ PURCHASE -MATERIAL FOR INSTALLATION OF APX2500 ON FENNEC AS555SN

Line	Item	Ordered	Price	Extension
1	WMAA34-300	1 EA	0.00000 EA 0.00 USD Non-Cancelable, Non-Returnable	
	no bid			
2	WM6430240	1 EA	0.00000 EA Non-Cancela	0.00 USD ble, Non-Returnable
	no bid			
3	WM21-38-3	1 EA	0.00000 EA Non-Cancela	0.00 USD ble, Non-Returnable
	no bid			
4	WM9018654	1 EA	0.00000 EA Non-Cancela	0.00 USD ble, Non-Returnable
	no bid			
5	WMAA34-IKC	1 EA	0.00000 EA Non-Cancela	0.00 USD ble, Non-Returnable
	no bid			
6	WM546-2510	1 EA	0.00000 EA Non-Cancela	0.00 USD ble, Non-Returnable
	no bid			
7	WM31-320-RFX 31-320-RFX	1 EA	3.60000 EA Non-Cancela	3.60 USD ble, Non-Returnable
	LT: 1-2 weeks, Lead time is subject to change due to raw material availability. NCNR			

08/19/2024 12:27:34 PM Page 1 of 4



WIRE & CABLE CONNECTORS & ACCESSORIES HARNESS MANAGEMENT PRODUCTS

VALUE-ADDED SERVICES

CONFIDENTIAL

WireMasters, Inc. 1788 Northpointe Road Columbia, TN 38401 (800) 635-5342 615-791-0281

Fax: (615) 791-6182

3235678 08/19/2024 Date Quote

Customer 11973

Muzdalifah Hanani Roslizan Contact

Salesperson Eric Hill

Line	Item	Ordered	Price	Extension	
8	WMEN3155-018M2020 EN3155-018M2020	15 EA	0.68000 EA Non-Cancela	10.20 USD able, Non-Returnable	
	LT: 1-2 weeks, Lead time is subject to change due to raw material availability. NCNR				
10	WMHKN6188	1 EA	0.00000 EA 0.00 US Non-Cancelable, Non-Returnab		
	no bid				
11	WMHKN4192	1 EA	0.00000 EA Non-Cancela	0.00 USD able, Non-Returnable	
	no bid				
12	WMHKN6166	1 EA	0.00000 EA Non-Cancela	0.00 USD able, Non-Returnable	
	no bid				
13	WM658028300	1 EA	0.00000 EA Non-Cancela	0.00 USD able, Non-Returnable	
	no bid				
14	WM6580283000000	1 EA	0.00000 EA Non-Cancela	0.00 USD	
	no bid				
15	WMHA21-15U	1 EA	0.00000 EA Non-Cancela	0.00 USD able, Non-Returnable	
	no bid				
16	WM320551 AMP 320551 MS25036-149	25 EA	0.58000 EA Non-Cancela	14.50 USD able, Non-Returnable	
	25/PC min. LT: 1-2 weeks , Lead time is subject to change due to raw material availability. NCNR				
17	WM320571 AMP 320571	15 EA	0.88000 EA Non-Cancela	13.20 USD able, Non-Returnable	
	LT: 1-2 weeks, Lead time is subject to change due to raw material availability. NCNR				
18	WM22759/16-16-9 M22759/16-16-9	125 FT	0.24154 FT	30.19 USD	
	Your item M22759/16-16-9				

Page 2 of 4 08/19/2024 12:27:34 PM



WIRE & CABLE CONNECTORS & ACCESSORIES HARNESS MANAGEMENT PRODUCTS

VALUE-ADDED SERVICES

CONFIDENTIAL

WireMasters, Inc. 1788 Northpointe Road Columbia, TN 38401 (800) 635-5342 615-791-0281

Fax: (615) 791-6182

3235678 08/19/2024 Date Quote

Customer 11973

Muzdalifah Hanani Roslizan Contact

Salesperson Eric Hill

Line	Item	Ordered	Price	Extension		
	LT: stock , Lead time is subject to change	ge due to raw material avail	ability. Shipping tolerance -	+/-10%		
19	WM22759/16-20-9 M22759/16-20-9	100 FT	0.13246 FT	13.25 USD		
	Your item M22759/16-20-9					
	100' MOQ LT: stock , Lead time is subje 10%	ect to change due to raw ma	terial availability. Shipping t	tolerance +/-		
20	WM22759/16-22-9 M22759/16-22-9	100 FT	0.10905 FT	10.91 USD		
	Your item M22759/16-22-9					
	100 $^{\circ}$ MOQ LT: stock , Lead time is subje 10 $^{\circ}$	ct to change due to raw ma	terial availability. Shipping t	tolerance +/-		
21	WMTG-222T14 M27500-22TG2T14	135 FT	0.58763 FT	79.33 USD		
	Your item M27500-22TG2T14					
	LT: stock , Lead time is subject to change	ge due to raw material avail	ability. Shipping tolerance -	+/-10%		
22	WMTG-221T14 M27500-22TG1T14	100 FT	0.36777 FT	36.78 USD		
	Your item M27500-22TG1T14					
	100° MOQ LT: estimated $11/5$, Lead time is subject to change due to raw material availability. Shipping tolerance $+/-10\%$					
23	WMRGM17/128RG400 M17/128-RG400	100 FT	2.89011 FT	289.01 USD		
	Your item M17/128-RG400					
	100' MOQ LT: stock , Lead time is subje 10%	ect to change due to raw ma	terial availability. Shipping t	tolerance +/-		
24	WMRGM17/119RG174 M17/119-RG174	100 FT	0.48750 FT	48.75 USD		
	100° MOQ LT: stock , Lead time is subject to change due to raw material availability. Shipping tolerance +/- 10%					
 25	WMTSLC2 STS L-C-2 NAS1745-14	100 EA	0.41863 EA	41.86 USD		
	Your item L-C-2					
	100/pc pks only LT: stock , Lead time is subject to change due to raw material availability. Shipping tolerance $\pm 1.0\%$					
26	WMTSLC3	100 EA	0.50532 EA	50.53 USD		



WIRE & CABLE
CONNECTORS &
ACCESSORIES
HARNESS

MANAGEMENT PRODUCTS VALUE-ADDED

SERVICES

CONFIDENTIAL

WireMasters, Inc. 1788 Northpointe Road Columbia, TN 38401 (800) 635-5342 615-791-0281

Fax: (615) 791-6182

Quote

Quote 3235678 Date 08/19/2024

Customer 11973

Contact Muzdalifah Hanani Roslizan

Salesperson Eric Hill

Line	Item	Ordered	Price	Extension	
	NAS1745-15 L-C-3				
	Your item L-C-3				
	100/pc pks only LT: stock , Lead time is subject to change due to raw material availability. Shipping tolerance +/- $10%$				
27	WM81824/1-1 M81824/1-1	100 EA	0.75280 EA	75.28 USD	
	100/pc pks only LT: stock , Lead time is subject to change due to raw material availability. Shipping tolerance $\pm 10\%$				
28	WM81824/1-2 M81824/1-2	100 EA	0.94554 EA	94.55 USD	
	100/pc pks only LT: estimated 10/17, Lead time is subject to change due to raw material availability. Shipping tolerance $\pm 10\%$				
			Product	811.94 USD	
			Tax	0.00 USD	
			Total	811.94 USD	

Did you know that you can place your order at ANY TIME DAY OR NIGHT using our eCommerce platform? Try it today!

WireMasters now offers in-stock and stock-to-build Mil-Spec connectors and harness management products including braid, cable ties, markers, molded shapes, sleeving, tapes, tubing, and more! Ask your WireMasters contact about sourcing every component for your harness.

All stock is subject to prior sale. Lead times are based on current availability and are subject-to-change. Unless otherwise stated in writing, all quotes are subject to tolerances of \pm 10% and all lengths are provided to the Mil-Spec.

A \$50 minimum applies to all orders.

We are dedicated to your satisfaction, so please contact us with any questions

Compliance with all U.S. government regulations related to the use, possible transfer, re-sale or export of this product(s) is the responsibility of the purchasing party. The purchasing party must determine if the material(s) in question is controlled and/or restricted by U.S. government regulations. If the item(s) is U.S. government controlled material(s), it is authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. It may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in the original form or after being incorporated into other items, without first obtaining approval from the U.S. government or as otherwise authorized by U.S. law and regulations.

ATTENTION — FOR UP-TO-DATE INFORMATION REGARDING MATERIAL AFFECTED BY RECENT TE NOE's, please visit www.WireMasters.com/TE-NOE-Update

Terms and Conditions of Sale

WireMasters Terms and Conditions of Sale can be found at www.wiremasters.com and are also available upon request. You may access and review this information via our website by clicking on 'Resources' and then 'Terms and Conditions of Sale'. WireMasters Terms and Conditions of Sale shall govern the entire contract between the parties. Failure to review our terms and conditions of sale is not considered a waiver of the provisions contained therein. This quote is expressly limited to acceptance of WireMasters Terms and Conditions. Acceptance of this offer in any manner shall act as acceptance of the Terms and Conditions.

Page 4 of 4 08/19/2024 12:27:34 PM